#### RECEIVED KANSAS CORPORATION COMMISSION

## KANSAS CORPORATION COMMISSION OIL & GAS CONSERVATION DIVISION

JUL 1 7 2007

Form ACO-1 September 1999 Form Must Be Typed

# ORIGINAL

## WELL COMPLETION FORM

WELL COMPLETION FORM
WELL HISTORY - DESCRIPTION OF WELL & LEASE WICHITA, KS

Operator: License # 5039	API No. 15 - 00723032-0000
Name: AGV Corp.	County: Barber
Address: 123 N Main	C .N½N½ .NW¼Sec. 24 Twp. 33 S. R. 11 ☐ East ₩es
Cib/State/Zin: Attica, Ks 67009	
Purchaser: West Wichita Gas	feet from S / (circle one) Line of Section
Operator Contact Person: Larry G. Mans	1310 feet from E / (Circle one) Line of Section
Phone: (620) 254-7222	Footages Calculated from Nearest Outside Section Corner:
Contractor: Name: VAL Energy, Inc	
License: 5822	Lease Name: Spicer Well #: B1
Wellsite Geologist: Kent Roberts	Field Name: Traffas  Producing Formation: Mississippi
Designate Type of Completion:	• •
New Well Re-Entry Workover	Elevation: Ground: 1496 Kelly Bushing: 1506
	Total Depth: 5048 Plug Back Total Depth: 4770
X OilSWDSIOWTemp. Abd.	Amount of Surface Pipe Set and Cemented at 296 Fee
Gas ENHR SIGW	Multiple Stage Cementing Collar Used? ☐ Yes ☒ No
Dry Other (Core, WSW, Expl., Cathodic, etc)	If yes, show depth setFee
If Workover/Re-entry: Old Well Info as follows:	If Alternate II completion, cement circulated from
Operator:	feet depth tow/sx cmt.
Well Name:	Drilling Fluid Management Plan AHJ NH7-14-08
Original Comp. Date: Original Total Depth:	(Data must be collected from the Reserve Pit)
Deepening Re-perf Conv. to Enhr./SWD	Chloride contentppm Fluid volumebbls
Plug BackPlug Back Total Depth	Dewatering method used
Commingled Docket No.	Location of fluid disposal if hauled offsite:
Dual Completion Docket No	·
Other (SWD or Enhr.?) Docket No.	Operator Name:
<u>11-14-2006</u> <u>11-21-2006</u> 5-23-2007	Lease Name: License No.:
Spud Date or Date Reached TD Completion Date or Recompletion Date	Ouarter Sec. Twp. S. R. East West
necompletion bate	County: Docket No.:
Information of side two of this form will be held confidential for a period of 1 107 for confidentiality in excess of 12 months). One copy of all wireline logs TICKETS MUST BE ATTACHED. Submit CP-4 form with all plugged wells.	
All requirements of the statutes, rules and regulations promulgated to regula herein are complete and correct to the best of my knowledge.	te the oil and gas industry have been fully complied with and the statements
Signature: Saury 19 Man	
	KCC Office Use ONLY
Title:	Letter of Confidentiality Attached
Subscribed and sworn to before me this	If Denied, Yes Date:
2 7 1 2 7	ES ECK Wireline Log Received
Notary Public	: - State of Kansas Geologist Report Received
Notary Public: Waynes Gold My Appt. Expires Co	0-7-2007 UIC Distribution
Dale Commission Expires: 2017, 2007	

Operator Name:A			Lease	Name:_	Spicer			Well #:	31	å 2
Sec. 24 Twp. 3	3 s. a. 11	_ ☐ East 🔀 West	County:		Barber				* .	
temperature, fluid rec	covery, and flow rate	and base of formations og and shut-in pressures es if gas to surface test, final geological well site	s, whether shi . along with fir							
Drill Stem Tests Taker	•	Yes 🔀 No		⊠ro	og Format	tion (Top), De	epth and	d Datum	[	] Sample
Samples Sent to Geo	logical Survey	Yes X No	į	Name	e ner Shal	١۵	365	Top 1	_ 2	148
Cores Taken		🗌 Yes 🔀 No			sing		384			340
Electric Log Run		🔀 Yes 🗌 No		Kans	sas City	•	414			640
(Submit Copy)			1		rokee Si		453			024
List All E. Logs Run:		,		Miss Vio	sissippi La	L	455 489			044 390
		ed Porosity	į	. – -	oson Sha	ale	498			482
	Induction resistivit	- * *			son Sar		501			511
	r Bond	-Y		LTD			504	8	-3	542
		CASING Report all strings set-		New				<del></del> -		
Purpose of String	Size Hole	Size Casing	Weight		Setting	<del></del>			r	
	Drilled	Set (In O.D.) 8 5/8	Lbs. / Ft		Depth 296	Type of Cemen	t	# Sacjs Used 175	28	e and Percent Additives Ge L
Surface									l	CC <del>Flake</del>
Production		5 1/2	14		5008	AA2 60740	Poz	200	2%	Salt
		ADDITIONAL	CEMENTING	/ SOUE	EZE RECORD		L_			·
Purpose:	Depth	Type of Cement			EZE RECORD		· ·		<del></del>	<u> </u>
Perforate Protect Casing Plug Back TD	Top Bottom	, ypo or borneri	#Sacks Use	80		Туре а	nd Perce	nt Additives	. <u> </u>	:
Plug Off Zone										
Shots Per Foot	PERFORATIO	N RECORD - Bridge Plug	s Set/Type		Acid, Fract	ture, Shot, Cer	nent Sau	9878 Pagard	·	
		otage of Each Interval Perf	orated		(Am	ount and Kind o	f Material	Used)	·	Depth
4	4853- 4863	3	·		1500 G 1	0% NE/	FE			4853 4863
	4853- 4863	3		<u> </u>	Frac 99,900#sand 240,000Gslick W 486					4853
·	4770			_   3	Set Brid	dge Plu	g			
2	4552- 4592	2			rac 70,000#s	sand402	,000	GSlic	c W	4552 4592
UBING RECORD	Size	Set At	Packer At	<u> </u>						
	2 3/8	4704	4770		ner Run	Yes 🔯	No			
ate of First, Resumerd Pro $05-23-$		r. Producing Metho		wing	Pumping					<del></del>
stimated Production Per 24 Hours	Oil Bbl	s. Gas M	<del></del>	Water Water	Bbis				(Explain	·
	8	200	15			·•	Gas-Oi	i Hatio		Gravity
sposition of Gas	METHOD OF COM	APLETION		Pro	duction Interval					
Vented Sold (# Sold Sumit A	Used on Lease	Open Hole	X Pert.	العادات ا <sup>ل</sup>	Comp.	Commingled				

Allied Cementing Co., Inc P.O. Box 31

Russell, KS 67665

Invoice Number: 105448

Invoice Date: 11/21/06

Sold Attica Gas Venture Corp.

To:

123 N. Main Attica, KS

67009

11357

Cust I.D....: Attica

P.O. Number..: Spicer B-1

P.O. Date...: 11/21/06

Due Date.: 12/21/06 Terms...: Net 30

Item I.D./Desc.	Qty. Used	Unit	Price	Net	TX
Common	105.00	SKS	10.6500	1118.25	Т
Pozmix	70.00	SKS	5.8000	406.00	Ť
Gel	3.00	SKS	16.6500	49.95	. –
Chloride	6.00	SKS	46.6000	279.60	Ť
Handling	184.00	SKS	1.9000	349.60	Ē
Mileage	15.00	MILE	16.5600	248.40	E
184 sks @.09 per		******	10.5000	240.40	ند
Surface	1.00	JOB	815.0000	815.00	E
Mileage pmp trk	15.00	MILE	6.0000	90.00	E
Head Rental	1.00	PER	100.0000	100.00	Ē
Wooden Plug	1.00	EACH	60.0000	60.00	T
All Prices Are Net	, Payable 30 Days Fo	ollowing Subt	otal:	3516.80	
Date of Invoice. l	1/2% Charged Therea	after. Tax.	· · · · · :	120.57	
If Account CURRENT	take Discount of	351 b8 Paym	ments:	0.00	
ONLY if paid withi	n 30 days from Invo	ce Date Tota	al:	3637.37	
				351.68	
			•	5 - 1 9	

RECEIVED KANSAS CORPORATION COMMISSION

JUL 1 7 2007

CONSERVATION DIVISION WICHITA, KS

Pd 12/20/06 ch= 5290

## LIED CEMENTING CO., INC. 23400

REMIT TO P.O. RU	D. BOX 31 JSSELL, KA	NSAS 6766	55		SE.	RVICE POINT:	Lage
DATE //- / 4/-	06 SEC.	TWP. 335	RANGE	CALLED OUT	ON LOCATION	JOB START	JOB FINISH
LEASES Pic	<b>–</b> –		LOCATION 25/	+ Sterlain Rd		COUNTY	STATE
OLD OR NEW		<u> </u>	Dias to	TELESTORIN FOR		Dorocc	1 75
CONTRACTOR	Val 1	#3	win to	OWNER	E Sento	Ju AH	TAN 21.
TYPE OF JOB		ce		OWNER _		grine	vice in
HOLE SIZE	12/14	T.D.	256	CEMENT			
CASING SIZE	8-18	DEP		AMOUNT OR	DERED _ <i></i>	5 of 60,	140243
TUBING SIZE DRILL PIPE		DEP DEP					
TOOL		DEP		-		•	
	200		IMUM /00	COMMON	105	4 @ 10.65	1118.2
MEAS. LINE			E JOINT	POZMIX	70	@ <u>5,80</u>	
CEMENT LEFT	IN CSG.	151	;t	GEL	3	@ 16.65	
PERFS.		3/41	· · · · · ·	CHLORIDE	4	@ 46.60	
DISPLACEMEN		<i>714001:</i>	s watu	ASC		@	
	EQU	<b>JIPMENT</b>					
		$-\omega$	Ark B.			@	
PUMPTRUCK #379	CEMENT						
BULK TRUCK	HELPER	Dares	~				
#364	DRIVER	(),p		-		@	
BULK TRUCK						@	
#	DRIVER			HANDLING	184	@_ <del></del>	7//0/
				— HANDLING MILEAGE		@ <u></u>	349.60 248.40
P: ~ -	REM Catton	MARKS:	<b>a</b> . 1 1				2451.80
Dunie	Maria	- Mi	× 17554	The Santa	CEDY	TOP	
60/40 2	43. pt	D Dun	mon +		SERV	ICE	
release	knota	- desp	larement	DEPTH OF JOE	29/	/	
pump	173/4/2	ols +	Shutin	PUMP TRUCK			815.00
Cement	- div	Cercu	lace	EXTRA FOOTA		@	
		<u> </u>		MILEAGE		_ @ <u>6.00</u>	90.00
				— MANIFOLD_		@	100
		_		plead Ru		@ <i>[ᠳ].07]</i> @	100.00
CHARGE TO:	1	Extrem 6	ر و				`
STREET	4 thic	$\alpha \mathcal{L}_{y}$	as	<del></del>		TOTAL	1005.00
CITY	STA	ATE .	ZIP_				
	0.7		ZII <sub>.</sub>	P	LUG & FLOA	T EQUIPMEN	T
				8 5F			
				1- worder	Alue	@ 60.00	60.00
					V - /	@	
To Allied Ceme						@	
You are hereby	requested to	rent ceme	nting equipment	ANVADDI	ICADITE	@	
and furnish cem	enter and he	elper to ass	ist owner or	ANY APPL WILL BE	CHARGE	A.W	
			above work was	UPON II	VVOICING	J TOTAL	1000
contractor I have	uon and sup ve read & ui	ervision or aderstand t	owner agent or he "TERMS AN	D - 2 011 11	A A OTCING	TOTAL	60.00
CONDITIONS"				TAX	<u></u>	_	
	motod off th	0 10 10130 3	ide.	TOTAL CHARG	_ 30	-11 8	<b>~</b>
				DISCOUNT	١٠٤ دي	8 IF PAIL	O IN 30 DAYS
	116 -	2 20/1	1	0	.00		
SIGNATURE A	1101	1///	Th	- x 150n	111.00	27	
, `	11	خدا ط	. 1 -	/\	PRINT	ED NAME	



**SALES OFFICE:** 

100 S. Main Suite #607 Wichita, Ks. 67202 316-262-3699 316-262-5799 FAX

#### **SALES & SERVICE OFFICE:**

10244 NE. Hwy 61 P.O. Box 8613 Pratt, Ks. 67124-8613 620-672-1201 620-672-5383 FAX

**SALES & SERVICE OFFICE:** 

1700 S. Country Estates Rd. P.O. Box 129 Liberal, Ks. 67905-0129 620-624-2277 620-624-2280 FAX

### Invoice

Bill to:	. 553500	Invoice	Inv	oice Date	Order	Station		
<i>Dim 10.</i>	ATTICA GAS VENTURES	611179	1	1/22/06	14202	Pratt		
	123 N. Main			Service D	escription			
	Attica KS 67000			Cen	nent			
	//357		Lease		Well	Well Type		
			Spicer "I	<u>B"</u>	B-1	New Well		
	· •		AFE		· PO	Terms		
	CustomerRep .			Tre	atar	Net 30		
	Kent Roberts	······································		Todd				
				<del></del>				
<u>ID.</u>	<u>Description</u>			<b>Quantity</b>	Unit Price	<u>Price</u>		
D205	AA2 (COMMON)		SK	. 150	\$15.90	\$2,385.00 (T)		
D203	60/40 POZ (COMMON)		SK	50	\$10.30	\$515.00 (T)		
C195	FLA-322		LB	113	\$7.50	\$847.50 (T)		
C221	SALT (Fine)		GAL	776	\$0.25	\$194.00 (T)		
C243	DEFOAMER		LB	36	\$3.45	\$124.20 (T)		
C312	GAS BLOCK		LB	141	\$5.15	\$726.15 (T)		
C321	GILSONITE		LB	751	\$0.67	\$503.17 (T)		
C244	CEMENT FRICTION REDUCER		LB	43	\$6.00	\$258.00 (T)		
C141	CC-1, KCL SUBSTITUTE		GAL	5	\$44.00	\$220.00 (T)		
C304	SUPER FLUSH II		GAL	1000	\$1.53	\$1,530.00 (T)		
F101	TURBOLIZER, 5 1/2"		EA	10	\$74.20	\$742.00 (T)		
F171	LATCH DOWN PLUG & BAFFLE, 5 1/2"		EA	1	\$250.00	\$250.00 (T)		
F211	AUTO FILL FLOAT SHOE, 5 1/2"		EA	1	\$320.00	\$320.00 (T)		
F121	BASKET, 5 1/2"		EA	1	\$237.50	\$237.50 (T)		
E100	HEAVY VEHICLE MILEAGE - 1 WAY		MI	90	\$5.00	\$450.00		
E101	CAR, PICKUP OR VAN MILEAGE - 1 WAY		MI	45	\$3.00	\$135.00		
E104	PROPPANT / BULK DELIV SERVICES/TON MILE, \$	200 MIN	TM	414	\$1.60	\$662.40		
E107	CEMENT SERVICE CHARGE		SK	200	\$1.50	\$300.00		
R210	CASING CEMENT PUMPER, 4501-5000' 1ST 4 HRS	ON LOC	EA	. 1	\$1,827.00	\$1,827.00		
R701	CEMENT HEAD RENTAL		. EA	1	\$250.00	\$250.00		

**RECEIVED** KANSAS CORPORATION COMMISSION Sub Total: \$12,476.92

Discount: Discount Sub Total:

\$3,394.13 \$9,082.79

JUL 1 7 2007

Taxes:

\$405.99

CONSERVATION DIVISION WICHITA, KS

Barber County & State Tax Rate: 6.30%

(T) Taxable Item

Total:

\$9,488.78

PLEASE REMIT TO Acid Services, LLC, Dept No 1131 Tulsa, OK 74182

/	RĠY 5	ERVIC		Lease	SPIC	Gl?	Well # B V	Legal 74	1-335-1/W
1 -	22-06	Customer ID		County	0	here	State	Station	RATT
4111	CA FIAS	1/- wtue	 FS	Depth		Formation		Chan Inint	2.11 LD BAF
	-1	<del>V - V - V - V - V - V - V - V - V - V -</del>		Casing	5/2	Casing Denth	TO 5090	Job Tytole 1	.S. NW
				Custome	Represent	ative boots	Treater .	1.5E134	
						1 / 1		1	
Number		PO Number		Material: Receive		ent	Jaker		
tation Code	Product Code	QUANTITY		MATERIA	LS, EQUIPM	ENT, and SERVICES	SUSED	UNIT PRIC	E AMOUNT
P	D-205	1505Ks	AA Z						
P	D-203	\$505K	60/401	Q2					
			•						
P	C-195	113 15	FLA 327	2			•		
P	C-221	776 15	SAIT						
P	C-243	36 15	DEFOAM	ek_					
P	C-312	141 lb	G95 Blo1						
P	C-321	7.51 lb	ELSONIT	2					
P	C 244	43 Lb	Fricti		Redu	icer			
9	C-141	5 cal	261				···		
ρ	C- 3×1	1000 Cal		sh II	_				
ρ.	F-101	10 FA	~1/	WIZZ	er_	····	· · · · · · · · · · · · · · · · · · ·		
P	F-171	1 EA	Latch Pu			BAFF/IS	T. P. KANE	RECEIVI SAS CORPORATION	ED
P	F-211	1 FIA	AFU FLOA	1	,	5/12	<u> </u>	SAS CORPORATION	COMMISSION
P	F-121	I EA	CUIT BSK		51/2			<del>- JUL 172</del>	2007
								CONSERVATION D	DIVISION
10	F-100	90 mi	HEAVY VE	m	T.			WICHITA, K	<del>6</del> -
P	E-101	45 MI	l' A	, , , , ,	<del></del>				
P	E104		PROPPANT	1 B	H. Del	n) ea J			
P	+			U CH		LUCK 1			
P	B.212		CSG CMT			4501-50	370		
p	R-701	1		an B		1001 00			
		·	· -						
	<del> </del>	d		<u> </u>		<u> </u>			
									10 200 10
			71	nne	): 7	7,440	400,- Hr		10,282.79
-···· <u>.</u>				ادب	1,4	ine a	500Hx		1,200,-
							O COLLX		
			<u> </u>		i) To	· · · · · / -	a Pa 1 ==		
					U 15		) frice = 19x81		
	L		13 • Pratt, KS 6						9082,79